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SECTION #1

Question # 02

Attempt any Six Parts
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If 4/5 of the students in a school have been away for a holyday. How many in every hundred has
been on holyday?
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Clear the Concept the word ratio.

Find the value of x in Proportion 20:50::8:x

?d EUEPRN.S — eadd
What is meant by percentage?
eSS
What do you mean by zakat?
S S pslea €5 ol S 5004000

Calculation zakat of Amounting on Rs. 500,000?
S S puialy 33 1S Jlals ) adi
What is difference between Profit & Loss?
6/ Sisen 230 T28 Cafondig 0 aSun Sa pglee ik g i o
Find SP when MP = Rs 728 discount =6%
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Define Inheritance?

Question # 03

Attempt any six Parts
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Define Credit Card?
?al Al e lS — Alay
What is meant by Premium?
f o Sl ad (S g 8l i dead 16 Ut O = 290 349800 Coad S i anaS S
A Computer Price is'Rs 34,800 inclusive of 16 % sales Tax what is the original Price of the
Computer?
£ 8 i yxi S GKS Sou

Define Sales Tax? _
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Define Excise Duty Sz ~
Prove that 3log2 + log5 = log 40 —U‘_}l L.‘Lﬂ C é(}:&d’b
Solve log(x +3)=2 AT, (j"‘
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Simplify (a+ b3)7 = (a3 b3)~3 - U /:P?
Written a Scientific Notation
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ERTY Question # 04



Attempt any six parts
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. Define Sequence and give Example?

f i e ) af iy g3 S Su
Il.  Define Set & give Example?
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Ill.  Define Cartesian Plane?
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IV.  Define Histograms?
=S aslaeagi o o

V. Find first two term of = = (=1")n?
oS a sl Caal SO 535 04 ey aan S16 sl R

VL. If AM between ‘a” and 16 is 24. Then Find the value of ‘a
f S s slsAXB 55 5B={a,b} LyA={2,34} B

VIL.  1fA={2,3,4} and B= {a.b} find AxB
S S pabna oy 2 188 )5l 402

VIIL.  Find geometric mean of 4, 2 and 8?
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IX.  Find the Range of the data? 6, 8, 13, 11, 18, 27, 23

Section # 02

Question # 05
Attempt any Three Long Question
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a. The Price of 15 Suits'in Rs. 6750 how many much suits can be Purchased by an amount of Rs.
40507
~{ Sadla s adsen O e 0yl Sl e o g Ol e Satle Sl 5 480004000 S 5 S)
a f S ashaa culle (S e Sl g
‘ b. Akram left a property of worth Rs. 48,00,000 he left behind a Widow, 3 Sons and 4 Sisters,
Calculate the Shares of each?

Question # 06
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4 Yo D

7 [‘ ~ 4. Distribute Rs. 200000 as a Profit in business regarding Thr}e Persons if their Shares are in the

[N ratio 3:2:5? /

| ¢ € i pplea @dlia B3 o 2 VLT 6 S Jued 25,5600
b. Find Compound on Rs. 600 For 4 Years at 6% per amount?
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Question # 07
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The Price of a Cycle is Rs. 4000 if 16 % Sales Tax is charged then calculate the amount of sales
tax on 30 such cycle?

f oS da uaae (S o 8]
2.38x3.901

Solve with the help of logarithm table —

Question # 08

If the A.Ms Between “a” and “b” are 5, 9 and 13 find a & b?
b sla slel g0 R
TS 2 US Cud Sb yla g by gaas O sl 59 G S

If A={7,10,13,14} ,U=(7,8,9,10,11,12,13,14} or B={7.8,11,12} find then
Verify that (A N B) = A° U BS

wSali 8 g A= {7,10,13,14}, U= {7,8,9,10,11,12,13,14}, B= {78.11,12y &
Verify that (A n B)¢ = A° U B¢

Question # 09

oy RS w230 (S 0l oyl g€ IS5 ol £
Draw figure with help of following points on graph paper?
A(0, -5), B(3,-2), C(3, 0), D(6, 7)
02 S pslaa oy 5l a4l 1S 01 5
3,5,6.8,8,9,10
For the data find mean & Median?



